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NH;Cl <> NH; +CI
NH, +H,0 < NH,+H,0" K,
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x =/(0.01-5.56-10-10)

=556-10"

:AINITAN MND NPT
x=[H,0]=236-10"° M
—100% = 0.0235% < 5%

pH =-10g[2.36-10°]=5.6 0.01
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LB, Vo on,
z(CH,)= % =0.53
7(C, 8)=§‘06§—ZII$=0.13

2,(C,H,)=1-0.13-0.53=0.34
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[0.53-M(CH, )+ 0.13-M(C,H, )+ 0.34-M(C,H, )]x 1mol =
0.53x16+0.34x30+0.13x 44 =8.48+10.2+5.72 = 24.4g
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\CH,)=——-100=34.8%
X:( 4) 24 4 °

5.72
(C.H,)=—=-100=23.4%
Z;( 3 8) 24 o

7(CH)=100% —23.4% —34.8% = 41.8%
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. [HI]? 0786 53,96
" [H,][l;]  0.107-0.107 "
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[H,][1;] 0.107-0.107
[HI]? 0.7862
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2.19
(a) 3 CO2(g) + 4 B20(1) — C3HS(g) + 5,02(g) AH® = +2219.2 K]
3x(b) 3 C(graphite) + 302(g) — 3 CO2(g) AH? = -1181kJ
4x(c) 4 H2g) +202(g)— 4 H20(I) AH" = -1143 kJ
3C(graphite) + 4 H2(g) — C3HS(g) AH® = -104kJ
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